HETAT Bl R—LL R D HEFE

— SEWMWE | R5.1 | R41 | R3.1 | R21 | H31.1 | H30.1 | H29.1 | H28.1 | H27.1 | H26.1 | H25.1 | H24.1 | H23.1 | H22.1 | H21.1 | H20.1 | H19.1 | H151 | RIEED*It H15.1ED %L
R6.1 (A) | (B) (C) (D) (E) (F) (G) (H) (D) (J) (K) (L) (M) (N) (0) (P) (Q) (R) (S) | A-B | mm= | A-S | mm=
f&bE 106 144 182 193 184 168 171 181 214 183 245 217 226 270 393 969 182 7184 607 A 38| —-26.4% A 501| —-82.5%
AN 50 o/ 06 o0 08 64 62 63 67/ 34 92 103 133 108 141 149 162 249 421 A7 -123% A 371 —88.1%
A BB KT (A B B ALET
AL B ET - 35 S BT - = JEHET) 5 9 Ji 22 14 12 15 20 15 16 17 17 39 41 41 o/ 62 49 58| A 4| -444% A 53] -91.4%
d=Niil 1 1 1 1 1 1 1 1 0 0 0 3 3 4 8 21 22 28 40 0 0.0% A 39| -97.5%
TR CGRtgh - HER - ABH) 1 1 1 1 1 1 1 1 1 1 3 1 1 1 1 2 0 2 0 0| 0.0% 1 —
+8 = BT 0 1 1 1 1 1 1 1 1 Ji 3 2 2 0 3 1 3 2 0] A 1/-100.0% 0 —
REHTT 0 0 0 0 0 0 0 0 0 0 0 1 0 1 2 4 Ji 8 20 0 — A 20| -100.0%
EAh 0 0 0 0 0 0 0 0 1 1 1 2 1 2 1 1 3 3 3 0 — A 3| -100.0%
BRIF T (SRizrh - B AT - ST -
FE PRIERT - 28 FH 7)) 0 0 0 0 0 0 0 0 0 1 0 1 2 2 3 1 4 1 0 — A 1]-100.0%
Bl 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 3 0 0 — 0 —
H0 )11 T3 a1 - R AORT - =45HT) 0 0 0 0 0 0 0 0 1 0 2 0 0 1 1 4 4 0 0 — 0 —
J\ BT (J\& i+ LB - EAHT -
ILTEET- RERAT - EFF) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 2 0 — A 2| -100.0%
1IN 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 4 0 — A 4] -100.0%
1Tt 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 — 0 —
;0] 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 — 0 —
thEh 0 0 0 0 0 0 0 0 0 0 0 0 0 3 3] 4 2 2 0 0 — 0 —
INRRTH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 — 0 —
NnEHFH 0 0 0 0 0 0 0 1 0 1 1 1 1 1 1 0 0 0 3 0 — A 3| -100.0%
AE T 0 0 0 0 0 0 0 0 0 0 2 4 3 4 8 16 20 16 11 0 — A 11]/-100.0%
X=ZfFh 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 2 3 0 — A 3| -100.0%
B h e - = 38 - SRR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 1 0 — A 1]-100.0%
B&ETh 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1 0 0 — 0 —
f2 2 TH (GERIAT - 2 B isHT) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 2 0 — A 2| -100.0%
DT [T (E AT - 2 FMD) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 — A 1]-100.0%
BA 2 T (H AT - SRR AT - HEAHD) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 1 3 0 0 — 0 —
FHROETH GHERET- L) IIFT - B
BT) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 — 0 —
A1 h 0 0 0 0 0 0 0 0 0 0 0 0 2 1 0 1 1 1 1 0 — A 1/-100.0%
5 SEHT 0 0 0 0 0 0 0 0 0 0 0 0 1 1 1 0 0 0 1 0 — A 1]-100.0%
XS 0 0 0 0 0 0 0 2 0 0 0 0 1 0 0 0 0 0 0 0 — 0 —
Pt il | 0 0 0 0 0 0 0 0 0 0 0 0 0 1 1 1 0 0 0 0 — 0 —
ZE BT 0 0 0 0 1 1 1 0 0 0 0 0 0 0 0 0 0 1 0 0 — 0 —
= T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 1 1 0 — A 1]-100.0%
= =T 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 3 0 0 — 0 —
JK & HT 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 — 0 —
=B M 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 2 2 0 — A 2| -100.0%
SAHITHET (=8R8T - %2EHT) 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 — 0 —
N bin: ] 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 — A 2| -100.0%
% EHHET 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 — 0 —
1] i BT 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 — A 1]-100.0%
Xi] FH ET 0 0 0 0 0 1 0 0 0 0 1 1 1 1 1 2 2 2 2 0 — A 2| -100.0%
== 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 — 0 —
L EW/] rEsHt- KEH) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1 2 0 0 — 0 —
£ L BT (4 AT - SS45T) 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 — 0 —
BT 163 213 248 268 260 250 252 2170 300 294 369 394 423 442 614| 1,237 1,082 1,177| 1,187| A 50| —-23.5%| A 1,024 —-86.3%
SR - 4F FLN T D 5 (2m1) | (2th) | (2m) | (2m) | (2m3) | (27) | (2/) | (2h) | (2h) | (2h) | (27) | (2/) | (2/) | (2/) | (2/) | (2h) | (2h) | (2h) | (2T)
156 201 238| 243| 242| 232| 233] 244 281 267| 337| 320/ 359| 378| 534| 1,118 944| 1,033| 1,028 A 45 -22.4%| A 872 —84.8%
A AR CHERTA (5t (3™1) | (4THET) | (4T HT) | (4THET) | (5THET) | (7T ET) | (5TET) | (6THET) | (5THET) | (6THET) | (1077ET) | (1178 | (15TET) | (147 ET) | (1778T) | (167HT) | (177HT) | (2577RT) | (2077HT)
7 12 10 25 18 18 19 26 19 27 32 34 64 64 80| 119/ 138| 144| 159 A 5| —-41.7% A 152 —95.6%




